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Usable np'7nninn
class Usable;

class Usable lock
{
friend class Usable;
private:
Usable lock(Q) {}
Usable lock(const Usable lock&) {}

¥
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class Usable : public virtual Usable_lock

{
/7 .

public:
Usable();
Usable(char®);
// ..

}:
Usable a;
class DD : public Usable { }:

DD dd; // error: DD::DD() cannot access
// Usable_lock::Usable_lock(): private member
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template<class Container>
void draw_all(Containeré& c)

{
for_each(c.begin(),c.end(),mem_fun(&Shape: :draw));

}
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template<class Container>
void draw_all(Containeré& c)

{
Shape* p = c.front(); // accept only containers
// of Shape*s
for_each(c.begin(),c.end(),mem_fun(&Shape::draw));
}
N"2NY7 X721 NNWNT 19N ,NX7'ONIpn NIYL o
mem_fun
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template<class Container>
void draw_all(Containeré& c)

{

typedef typename Container::value_type T;
Can_copy<T,Shape*>(); // accept containers of

// only Shape*s
for_each(c.begin(),c.end(),mem_fun(&Shape: :draw));
}
(w192 NnwNn ViIxa X77) T2 NIYAION N1y0N DR XL O
template<class T1, class T2>
struct Can_copy {
static void constraints(Tl a, T2 b)
{T2c=a; b=a; }
Can_copy(Q) { void(*p)(T1,T2) = constraints; }
}:
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template<class T, class B> struct Derived_from {
static void constraints(T* p) { B* pb = p; }
Derived_from(Q) { void(*p)(T*) = constraints; }
}:

template<class T1, class T2> struct Can_copy {
static void constraints(Tl1 a, T2 b) { T2 c = a; b = a; }
Can_copy() { void(*p)(T1,T2) = constraints; }

template<class T1l, class T2 = T1> struct Can_compare {
static void constraints(Tl1 a, T2 b) { a==b; al=b; a<b; }
Can_compare() { void(*p)(T1,T2) = constraints; }

}:

template<class T1, class T2, class T3 = T1> struct Can_multiply {
static void constraints(Tl1 a, T2 b, T3 ¢c) { ¢ = a*b; }
Can_multiply(Q { void(*p)(T1,T2,T3) = constraints; }
}:
C++ 2 n'mxy NN NIdN
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‘MyBase™ n nw17 0"y 70'na D'xvn o

template<class T>
class Container : Derived_ from<T,Mybase>

{77 ... };

DX D nwN' pTa nnXa X7 Derived _from o
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class POLYGON {
//. ..

public:
void addVertex(POINT &p) { /7*...*/ }
//. ..

¥

class RECTANGLE : public POLYGON {
POLYGON: :addVertex;
//. ..

¥
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void T(POLYGON *pp, POINT& x)
{

RECTANGLE r;

POLYGON p;

p.addVertex(x);
pp->addVertex(x); // The problem started already here !

r.addVertex(x); // ERROR! hidden in RECTANGLE

pp = &r;
pp->addVertex(x); // TROUBLE! Adding a vertex
// to a RECTANGLE
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N N71vo nx nunnn POINT np7nnn o

NTI717 NMUN'o NTIFA NN'ThNN conjugate

n'noin

/** Conjugate of this */
POINT POINT::conjugate()

{

}

POINT rslt = *this;
rslt.move(0,2*y); I

return rslt;

.

‘ The conjugate of l
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w1 (PARTICLE) 7'77n wnn% 1 o
(12> NN q'on nual) POINT nP7nninn
(DX non ,niNtn

1N [DINA TWN conjugate nTinnn 07INI ©

N9IXND TIAVN X7 '27n 7V DA 71y97 NN

PARTICLE pl, p2:
p2 = pl.conjugate(); // ERROR
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/** Conjugate of this */ .
like *this POINT::conjugate()
{

like *this rslt = *this;

rslt.move(0,2*y);

return rslt;

}
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